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Question Number : 1 Question Id : 5934529568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mr. Sinha distributes a certain sum of money among his five sons, one daughter
and his wife in such a way that each son gets double the amount of his daughter
and the wife gets double the amount of each son. If each son gets Rs. 15,000,
what was the total amount distributed ?
i e A U 92, U 96 AR @l Uil & o UF Mivad ae fdand B
g, % 9% ¢ ®l, 9l § Al AR 9l B UAE 9¢ | o A e e 3R
T O Bo 15,000.00 TR, o FH il WS Eaid w e
Options :

Rs. 1,23,000
| % 1,23,000 %o

Rs. 1,12,500
. 1,12,500 %o

Rs. 1,38,500
1,38,500 %o

3. %



Rs.1,32,500
4 % 1,32,500 %o

Question Number : 2 Question Id : 5934529569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Abhishek Jain typed 50 pages at the rate of 30 pages per hour on Sunday. On
Monday, he could only type 50 extra pages at the rate of 20 pages per hour. What
has his average rate of typing been overall. Calculate in pages per hour ?

ﬁ'ﬂﬂ?*ﬁﬁﬁﬂjﬁﬂfﬂﬁﬂfﬁﬂ?ﬂ?ﬂ, 50 Us TRY U |dMar # ds,
Ui 5 20 TSt #f 3T § @ad 50 Al U TRT S G6N BN G B 6w
SR Ad 3T # E 7O 0w O g # Fifo
Options :

30

1. ®

2.\_?,24

Question Number : 3 Question Id : 5934529570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In covering a distance of 30 km Amit takes 2 hours more than Suresh, If Amit
doubles his speed, he would take 1 hour less than Suresh. Amit's speed is :

%Drr#rﬂwaﬂmﬁamﬁaﬁﬂzaﬁaﬁww Wamﬂmﬂﬁr
ST Y Al B, dl 98 Gis & 1 0¢ & il 2 HfHH?FITﬂF[

Options :



5 km/hr
| o S T/

7.5 km/hr
5 w 1.5 [

6 km/hr
s x 6 B/

6.25 km/hr
4w 6.25 FRHI/HeT

Question Number : 4 Question Id : 5934529571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What would be the measure of the diagonal of a square whose area is equal to
578 sgcm ?
UF a9 % [a@91 H AT F GRM, e Ehd 578 @ §Hl B aUET & ¢

Options :
38 cm

i 38 FA

1

34 cm

4 o 34 FH

Question Number : 5 Question Id : 5934529572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A sum of money at compound interest amounts to fifth-fold itself in 7 years. In,
how many years will it be 25 times itself ?

7 aut # a%dla AW &1 3§ UF AN A U AT ad GgAdl ol o aul |
TE @9 B 25 A B T 7

Options :

14 years
| 149

8 years
5 w S HRI

6 years
3 % O ¥
3 years

Question Number : 6 Question Id : 5934529573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A balloon is connected to a meteorological station by a cable of length 200
meter, inclined at 60° to the horizontal. Find the height of the balloon from the
ground. Assume that there is no slack in the cable.
T e 200 Hied @ UF Baa B EW UF HEH 96 w99 8 31 5§, Al
Al 8 60° T FH Bl TEH § TN B AR S F AF & & aew § Fk
= ol ol
Options :

173.2 m
| 173.2710

143.8 m
5 % 143.8#lo



163.5m
, x 163.5 o

None of the three
e EEE

Question Number : 7 Question Id : 5934529574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A ladder 1s placed against a wall such that its foot is at a distance of 2.5 m from
the wall and its top reaches a window 6 m above the ground. Find the length of
the ladder.
UF HiEl FH UF GAF & |17 3H BN @l ¢ 5 SHH 0T dAN § 2.5 |l #l gl
T B AR IFH S FHE § 6 Hiet U UF [@3al aF 9gd Al & F war
ST BT
Options :

8.5 m

L% 8.5 Hio

Question Number : 8 Question Id : 5934529575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Find value of following :
¥ 1 A ST A

1+43-4x 6+10 =0
Options :
8
% 8

Can not calculated
4, v TN G TRl

Question Number : 9 Question Id : 5934529576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A and B are partners in a business. They invest in the ratio of 4 : 9, at the end of
6 months A withdraws. If they receive profits in the ratio of 4 : 9, then find how
long B's investment was used.

A HAX BUF #199@ § THRR &1 d 4:9 & AJUE # e #3d &, 6 #eH & #d
# AT &l a6 o ol 81 9 I 4: 9% I A A AT BT &, al 98 S
#¢ {6 B @ a9 #1 IUEN e d fohar T a1 7

Options :

12 months
| % 127EH

0 months

2.335:;l

6 months

3.0 07



8 months

4 % SHEM

Question Number : 10 Question Id : 5934529577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The cost price of a table and a chair together is Rs. 690, If the table costs 30%
more than the chair, then find the cost price of the table and the chair
respectively.

Th HF AN TH GH B GG G Go 690 Bl Al A &1 @ el § 30% Al
g, @ A9 A T F AN qF FA T B

Options :
Rs. 390 and Rs. 300

| » B0 390 AN To 300

Rs. 300 and Rs. 390
%o 300 A Fo 390

Rs. 480 and Rs. 210
To 480 AN o 210

ol

Rs. 400 and Rs. 290
%o 400 AT To 290

Question Number : 11 Question Id : 5934529578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



'A Shopkeeper has 660 Kesar Petha and 510 Paan Petha. He wants to arrange
them in such a manner that each stack has the same number, and they take the
least area of the tray. What is the number of Pethas that can be placed in each
stack for this purpose ?

UF FEMEN & WH 660 HHT Yol AR 510 U USl & 98 3% 26 i@ § Sdeed
FAAT IIEdl © 6 U0 ©F 3 e g9 8, A 9 ¢ # F4 d 9 89 o 29
% B W0 UAF ©F # o qen | US &1 @ A 9l © ¢

Options :

e 10

2. ® =

Question Number : 12 Question Id : 5934529579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sindbad rows 24 km against the flow of water and 54 km with the flow of water
in 6 hours. He can also row 36 km against the flow and 48 km with the flow in 8
hours. What is his speed in still water ?

Wedle 6 5¢ & UMT & UdI8 % faans 24 [BHl A UM & UdlE @ |1 54 [HE
1T War 31 a8 8 5¢ H UMl % UAlE ® Raeh 36 [HAl 9= UM F YA § a9 48
Al 1@ @ HFd1 © &% 20 T A IHE AET T e 7
Options :

18.75 kmv/h
| w 18.75 fHI/Aa

19.25 km/h
5 o 19.25 I/

17.65 km/h

s x 17.65 THI/ser



Question Number : 13 Question Id : 5934529580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If x=2. then the value of x> +27x> +243x + 631 is :
e x=2 B, al x> +27x2 +243x+ 6315 AN © :

Options :
| w1211

, % 1231

5 o 1233

4w 1321

Question Number : 14 Question Id : 5934529581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A & B together finish a job in 24 days, while A, B & C together can finish the
same job in 8 days. C alone will finish the job in :

A ¥ B f@# 24 At # 0F M &1 T0 #4d §, 796 A, B &R C 0% 919 8
Al # T8 &M & T0 FH dd o1 C T8 36 FM &l @A FT o

Options :




4. %

Question Number : 15 Question Id : 5934529582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The original price of a TV set is Rs. 6,000. If the price is discounted by 20% and
then raised by 10% for service contract, the price charged by the shopkeeper is :
£l §e F1 99 FAd o 6,000 T AR FMT H 20% F Ge & A ¢ AR B Har
AT fou 10% F21 & S 2, 3 FFE 8 a9l S diel ged B8R
Options :
Rs. 5,400
% 2,400 %o

1

Rs. 5,280

, o 5.280 %0

Rs. 5,100
3 % 5,100 %o

Rs.4,200
4 % 4200 %o

Question Number : 16 Question Id : 5934529583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A certain sum of money was divided between A, B and C in the ratio5: 6 : 9. If
A received Rs. 450 then the sum of money was :

0 ivad U B A, BARC & I 5:6: 9% AJIT # diel 1 1 I A
450 Bo U faT, ol His=d s «f :



Options :
2,000

1. #

Question Number : 17 Question Id : 5934529584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

By selling a bag at Rs. 230, profit of 15% is made. The selling price of the bag,
when it is sold at 20% protit would be :

230 Go H UH oRT =T, 15% F1 @I Bl 81 F1 $ (Gl 09, 59 26 20% am

=

T 9 S 8, dl B8R
Options :

Rs. 205
205 %o

Rs. 240

3 240 %o

Rs. 200

4 % 200%0

Question Number : 18 Question Id : 5934529585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
A Bus travels at the speed of 36 km/h, then the distance covered by it in one
second is :
TF 99 36 FRH/HEE F1 Ma § Fwdl B, o U6 993 A o0% &R a9 # R 34 ©
Options :

10 m
| 10#

I5m
2. % 15#[

12.5 m
R VAL

135m
4 % 1359

Question Number : 19 Question Id : 5934529586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The average salary of male employees in a firm was Rs. 5,200 and that of
females was Rs. 4,200. The mean salary of all the employees was Rs. 5,000.
What is the percent of female employees ?

UF W H TRY PN F AEd a9 Go 5,200 AN ARA F Fo 4,200
20l FAAE B A|T dad Go 5,000 =M1 ATET FAGNE BT Hided 27 § 7
Options :

L ® 80%

) 20%

- 40%

L% 30%



Question Number : 20 Question Id : 5934529587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The difference between simple and compound interests compounded annually on
a certain sum of money for 2 vears at 4% per annum is Rs. 1. The sum (in Rs.)
1S :
wh [is=a U F AR AR aiftE TwdiE AdE 3 ANE W Adds A @
9 # A 2 H & o 4% Ufd a9 @ 37 W 1 %o 1 T (Fo H) B
Options :

2
o 620

1.

630
2. 8

640
3. %

625
4. ¢

Question Number : 21 Question Id : 5934529588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a mixture of 25 liters, the ratio of milk & water is 4 :1. Another 3 liters of
water is added to the mixture. The ratio of milk & water in the new mixture is :

25 FeT % P A, g4 A T 1 STE 4 1 31 e & st 3 #e o
@ AT # T A # g AR U @ S ®
Options :

5:1

1. ®

2.¢



Question Number : 22 Question Id : 5934529589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A and B together can do a piece of work in 36 days, B and C together can do it in
24 days. A and C together can do it in 18 days. The three working together can
finish the work in :

A A7 B a7 36 1 § % &9 &7 994 2, B 97 C Haay 28 24 fof & &1
HFd 21 A AN C HaaT 29 18 &9 # #7 95d 3 dFf F U 91 i S °
HH G & q9hdl ©

Options :
8 days

16 days
, o lofET H

30 days
3 % 30T H

32 days
g w 2T H

Question Number : 23 Question Id : 5934529590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A dealer marks his goods 20% above cost price. He then allows some discount
on it and makes a profit of 8%. The rate of discount is :
UF AT AT A F ARG G 8 20% FI @l 2| BT a8 29 W g8 §2 adl
& AN 8% F1 W9 FAMI 21 BT # X & ¢
Options :
4%

1. ®



6%

2. %

3 @ 10%

4 x 12%

Question Number : 24 Question Id : 5934529591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Sum of two numbers is thrice their difference. Their ratio is :
Sl HEAl & AN I HAT H dF A 81 I AU ©

Options :
% 4:1
2.%/2:1
3.%;33:]
L% =3

Question Number : 25 Question Id : 5934529592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The average age of 36 students in a group is 14 years. When the teacher's age is
included in it, the average increases by one. The teacher's age in years is :

UF §9E A 36 BET F1 AT AY 14 a9 B T [GEF F1 35 B 299 S
S ®, df AT H U6 $ gig eidl 81 STEE @ A (aul) | B

Options :
31

1. %



Question Number : 26 Question Id : 5934529593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A dishonest dealer professes to sell his goods at cost price but uses a weight of
875 grams for the kilogram weight. His gain percentage is :

UF S2AM I AN A F AR 973 W99 F1 9d Fedl §, didd U EiE
g & 1T 875 UM a5 1 IUANT FIAl 2| IHPT @l HicleTd

Options :

w 17%

s % (103/7) %
s » (1007) %

14%

4, =

Question Number : 27 Question Id : 5934529594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If the simple interest on Rs. 1 for 1 month is 1 paisa, then the rate percent per
annum will be :

qE o 1 % o0 | #EM & dMR9 @9 1 T4, 5 o ad #1 &9 3 afaea
# 2l

Options :



10%

Question Number : 28 Question Id : 5934529595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a— b=1anda® — b’ = 61. then the value of ab will be :
qE a—b=1 T o’ —b> =617, dl ab F A BT :
Options :

—20

1. ®

20
2.¢

30

3. %

60
4. %

Question Number : 29 Question Id : 5934529596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The product of 2 numbers is 1575 and their quotient is 9/7. Then the sum of the
numbers is :

31 HEmE # AR 1575 F AR I MEEA 9/7 31l HEenst # a6 @

Options :



74

78

3.\_/80

90

Question Number : 30 Question Id : 5934529597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the related word/letters/numbers from the given alternatives for
symbol "7?" :

Magazine : Editor : : Drama: ?

e "7 % o0 e U fowedl § § Helid s/ davEen & 9o a7
T : HUIEE : : ACH : ?

Options :

Director
s
- IREEIE]

Hero

(ol

2 % B0

Heroine
3, % M9

Painter

4 % UEX

Question Number : 31 Question Id : 5934529598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Select the related word/letters/numbers from the given alternatives for
symbol "7" :

e " & o RU 0 fadedt & | S99 sTe/AEEE B 99 B

ACEG :IKMO :: QSUW : ?

Options :

% YZCE

, % YACD

3 YACE

, » YBCE

Question Number : 32 Question Id : 5934529599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the related word/letters/numbers from the given alternatives for
symbol "7" :

e """ & o Ru 0 fasedt & | SISt/ dsy/EE & 99 B
12:39::15:7?

Options :

48

1.¢

52

. 39

Question Number : 33 Question Id : 5934529600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Find the odd word/letters/number pair from the given alternatives :

mmwﬁﬁﬁmﬁsmﬂﬁmwﬁmﬁm
Options :
CA

1. %

FD

2. %

KI

3. %

TQ

4. &

Question Number : 34 Question Id : 5934529601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A series i1s given, with one term missing. Choose the correct alternative from the
given ones that will complete the series.

TF HEdl < R 2, e uF 9 TEE 21 [RU W faEedt § 8 &2 f9dey 3 ol
ST N T HN

DCB, HGF, 7, PON

Options :

. LKIJ

). » QRO

SUM

3. %

. % XZY

Question Number : 35 Question Id : 5934529602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A series is given, with one term missing. Choose the correct alternative from the
given ones that will complete the series.

TH 4@ & T B, MEH T 98 M9 8 KU T faEed § 9 &8 fadey g o

4,9, 16, 25, 36, ?7

Options :
v

L% 94

Question Number : 36 Question Id : 5934529603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A is D's brother. D is B's father. B & C are sisters. How is C related to A 7
A, D TE ¥ D,B# a1 81 B C3e4 21 C, A § 9 €ahd & 7
Options :

Cousin

[ x AU AR

Niece

Aunt
3. % d

Nephew
4. % R



Question Number : 37 Question Id : 5934529604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

At a college party 5 girls are sitting in a row. P is to the left of M and to the right
of O. R is sitting to the right of N, but to the left of O. Who is sitting in the
middle ?

U Fieod el # 5 FSEA UF U § G912 P, M P a8 AT O F 3% 2 R, N
% T AN 401 &, didd OF J8 AR &1 dd § DA o6l & 7

Options :

1.\'/0

Question Number : 38 Question Id : 5934529605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

From the given alternative words, select the word which cannot be formed using
the letters of the given word :

U U delvs 9= H, 98 9= & 959 B¢ 99 [RU T s & A F I
CONSULTATION

Options :

| ® CONSTANT

. NATION
2. %

3 SALUTE



, « STATION

Question Number : 39 Question Id : 5934529606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If S =19, SUN = 54 and CAKE = 20 . then MISTAKE = ?
7fd S =19, SUN = 54 T CAKE = 20 &, df MISTAKE = ?

Options :

1.\_/?8

Question Number : 40 Question Id : 5934529607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If '+ stands for multiplication, '-' stands for addition, %' stands for division, then
what is the value of 128 +9 - 16x 4 ?

afe '+ oM F JaAEI B, ' W Tl 8, X [aeE Jar @, d 128 + 9 — 16 x 4
H AF & ?

Options :

| ® 73

. 256
2. %

1156
3.¢



Question Number : 41 Question Id : 5934529608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Some of the followings equations are solved on a certain basis. On the same
basis find out the correct answer from amongst the four alternatives for the
unsolved equation.

et 8, %5 S o Fis T $ R W e R T E 36 am
T ATgwE FHE & ¢ A1 ahedl # 8 FE 39 B A B

6x2x9=269

8 xTx1=781

4x1x3=?

Options :

o 431

1.

, % 413

341

3. %

4 143

Question Number : 42 Question Id : 5934529609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

From a square of side 10 cm, four parts of length 5 cm and breath x cm are made.
What is value of x ?

10 §lo I a1 a1 H | 5 991 @ AN x §H 912 4 7FH3 90 o ol x H 49
41 B

Options :



Question Number : 43 Question Id : 5934529610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement :
QU U o F HA A AR B & Ry T wem § § Fe- e
His=d &0 & @i= 5 Hhdl @
Statements :
&
1. All books are novels.
i g&® U 2
2. Some novels are poems.
Conclusions :
e
I. Some books are poems.
B T FAa 2
II. Some poems are novels.
Options :

Only conclusion I follows.

. P epd 1 STET B @



Only conclusion II follows.
7 \;/’:I,-aij H-Eﬁq I1 ?-W idl El

Neither conclusion I nor conclusion 11 follows.
. L Tl Rt 1R T & el 11 SgeEeer FYdr B

Both conclusion I and conclusion 11 follows.

2t e 1A e 1 ATE #d B
4. % .

Question Number : 44 Question Id : 5934529611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Select the related word/letters/number from the given alternatives  for
symbol " 7"
Bacteria : Microscope :: Moon: ?
FvE 0" @ 6 U A fadedt § § HeEid e/ agquEe #1 g
SFCIAT © ARHEDY  HEAT ;7
Options :
Night

Satellite

e

3, %

Telescope

4.4 =

Question Number : 45 Question Id : 5934529612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the related word/letters/number from the given alternatives for
symbol " 7"

e "?" % Y RU U fEdedl § 8§ se/agvEen & g

LNPR : TVXZ: NPRT :?

Options :

% FHIL

FUH

2. %

VXZB
3.¢

_ JLHF
4. %

Question Number : 46 Question Id : 5934529613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Choose correct alternative to complete the sequence given below :
xy _kx_zk_yzk xyz __

Options :

L@ zyxkx

5 % zykxz

zkxyk

3. %

4w ZXykx

Question Number : 47 Question Id : 5934529614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It M is the sister of Z, Z is the wife of P and P is the son of A, how Z relates to
A7
i M, Z%1 951 5, Z, P Ioh & AR P, A G B, al Z,A § &9 Hfud © 7
Options :

Daughter-in-law

Daughter

Mother

4%

Question Number : 48 Question Id : 5934529615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain code "CAMEL' is written as 'MENBD'. How shall "TIGER' be written
in that code ?

m% fHisEd #12 # 'CAMEL' & 'MFNBD' @@ r &1 39 #1E § 'TIGER'
Options :

L% SFUJH

, » SFHIU
, % SFIUH

, % SHFIU



Question Number : 49 Question Id : 5934529616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If % stands for — , + means X , + means + and — means <, then what is the value
of the given expression ?

175-25=5+2%x3+10=?

T X B AT & —, + FT AT x, = &1 T + AR — 7 A & =, o 3 T AT
P qA TS 7

175-25<54+2%x3+10= ?

Options :

1. ¢ -13

160

2. %

240

2370

Question Number : 50 Question Id : 5934529617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.
U U Fo I §F A A M9 o i QU I U H § PE-E1 e/ sagEe
Mised w7 & e & |5 2
Statementis :
FoT
1. Life means stresses and strains.
Has 1 A T aE AR fEEE
2. Stresses and strains have an adverse effect on life.
aE ST =g &1 siad 9% dfosga 999 93 ol
Conclusions :
ey
I. Life is not worth living.
AT A @FF @l
II. One should avoid stresses and strains in life.
AT # q9a AR e ¥ = =me
Options :
Only conclusion I follows.
| x P SR 1 SE B 2

Only conclusion II follows.
, o P T T1 ST & o

Both conclusion I and conclusion II follows.

I EL R LR L ac R

Neither conclusion I nor conclusion II follows.

, % 7 1 Y 1R T & Fepd 11 S8 $T B

Question Number : 51 Question Id : 5934529618 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control

Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Careful 1s to cautious as boastful 1s to :
HEIH F1 AT {0 JaF & T a8l 26T AN a & FEE § 7
Options :




arrogant

. s
i
.H 3'” .

humble

Suspicious
4% SIESE

Question Number : 52 Question Id : 5934529619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A series is given below with one term missing. Choose the correct alternative to
complete the series.

Enl

SCD, TEF, UGH, ?, WKL

Options :
CMN

1. #

VII

2. %

vl
3.¢

- aT
4. %

Question Number : 53 Question Id : 5934529620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



F is the brother of A. C is the daughter of A. K is the sister of F, G is the brother
of C. Who is I:he uncle of G 7 )

F, A ME 51 C, A® 3¢ 21 K, F#l 989 21 G, C # TE &1 G & 9= 34
g7

Options :

Question Number : 54 Question Id : 5934529621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If Jhansi is 12 ahead in rank of Prabha, who ranks 15th from last, then how many
students are there in the class if Jhansi ranks 4th in order of merit ?

A FE, T D FHH 12 AR F S A F 158 =W W 2 AR IRga & F4 A
il 49 9 9T B @ FE A g fbay BE 7

Options :

L x 2

27

30

4%

Question Number : 55 Question Id : 5934529622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

From the given words, select the word which cannot be formed using the letters
of the given word.

fou U sr=f |, IH 9% @ 959 A OE U U s & A # W B 16
S A T B

ENVIRONMENT

Options :

| ® ENTER

, « METRE

. « IRON

MOMENTUM
4. ¢

Question Number : 56 Question Id : 5934529623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It 'BASKET' is written as '"TEKSAB' how can 'PILLOW' be written in that
code ?

77 'BASKET # 'TEKSAB' # &7 # T &1 © of 99 #2 § 'PILLOW' &I
Options :
| x LOWPIL

. WOLLIP

3 % LOWLIP

4% WOLPIL

Question Number : 57 Question Id : 5934529624 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
If '+ means - and -' means "X, X' means ' and '+ means '+, then
260 +2= 1
oo TR 5 e ) SN | £ LB i SO SV 7 i o SUPUNEC | D LU 5 e ) LRI i |
2-6X6+2="7

Options :

1.\'/]

Question Number : 58 Question Id : 5934529625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.

o0 0 F9E H 9T A AN Mg F F U T N § § #F-81 Few/amen
Fisad =1 § Fepmn &1 &1 @ ¢

Statement :

P .

Ahimsa should be basic principle of human beings.

AfEET A @1 q [&ic & =)

All of us should practice Ahimsa.

B9 |l & ARH & U T =

Conclusion : 1. We all know the real meaning of Ahimsa.
fege - 158 |/ afeen @ andias A9 A B
Conclusion : II. Ahimsa promotes global harmony.
et : 11, A dfsas |ed F 92l 3T o
Options :

Only conclusion I follows.
- P TRy 1 S ATl B

Only conclusion II follows.

- Hae Ry 11 FFE Ll &l

Neither I conclusion nor II follows.

s o 7 O R 1A T & e 11 SR Ha

Both conclusion I & II follows.
4 s O FERd 1R I SRR B B

Question Number : 59 Question Id : 5934529626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the odd word/letters/number pair from the given alternatives :
U U faedl § & U §Te/ARYEE I S Do
Options :




Question Number : 60 Question Id : 5934529627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
If Usha is taller than Nisha; Nisha is taller than Asha: Alka is taller than Usha.
Harsha is shorter than Asha; then who among them is the tallest ?
et | B ) s B T ) ) e Bt B o e T B | A i )
BIET 2; fht oF | 19 §ad &1 & 7
Options :
Usha

Question Number : 61 Question Id : 5934529628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Neeraj Chopra is associated with which sports ?
Options :

Kabaddi

Cricket

2. 8

Javelin Throw
3 o T B

Wrestling

4w T

Question Number : 62 Question Id : 5934529629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is notf a commercial source of energy ?
Ffarad # & $F SHal & aioas Aid e & ¢
Options :
Coal
1. % P

Petroleum

2.8 7

Natural Gas

5 x JHIE T

Firewood



Question Number : 63 Question Id : 5934529630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is an emergency hormone in humans 7
AMd § AAFRE A T § BT S 7
Options :

Thyroxine

| % TR

Insulin

2. % <4

Adrenalin

3.@”%

Progestrone

4w T

Question Number : 64 Question Id : 5934529631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which term is not associated with sound wave ?
(AT T F HH 5 8T H 78 & ¢
Options :

Hertz

Decibel

2.

Candela

3.\;}'1??;!1



Mach
4 % T

Question Number : 65 Question Id : 5934529632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

During the period of which Governor General/Viceroy was the Indian Civil
Service introduced ?

N foidst Ha1 & JEAR 69 T T i/aRad 999 § g o 7

Options :

Dalhousie

| % SUB o

Curzon

Bentick

® él Erﬁ

Cornwallis

4. &

Question Number : 66 Question Id : 5934529633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the uppermost layer of the atmosphere ?

Freiaigd § & $F-91 agHEd 31 996 S0 TG ¢ 7
Options :
Stratosphere

1. %



Mesosphere

lonosphere

=, ™

o

Exosphere

4. )

Question Number : 67 Question Id : 5934529634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The first Commercial Civilian Aircraft developed by India is :

T M [aFEd T8ar v ane 9899 B o

Options :
Pawan Hans

| T

Tejas

Question Number : 68 Question Id : 5934529635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Webbed neck is a characteristic of :
REIeile oA @l UH fasiuar 2
Options :

Down's syndrome

| SO M

Turner's syndrome

), v T TS

Klinefelter's syndrome

3. % FEIHTCT HZH

Cri-du-chat syndrome

4.

Question Number : 69 Question Id : 5934529636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The minimum age limit for the membership of the Vidhan Parishad

I 9NTE B HIEAT B Y FAad A HEH L 2l
Options :
21 years
L% 21 e
25 years
) % 25 |

30 years

. 30 91
35 years

4 % 35 Hied



Question Number : 70 Question Id : 5934529637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
National Anthem of Bangladesh 'Amar Sonar Bangla' was written by :
ARG F AEE T “HHT JFR Far g o @0 47
Options :
Rabindranath Tagore
v TR

Sarojini Naidu

Kazi Nazrul 1slam

Taslima Nasrin
4 s TR TE

Question Number : 71 Question Id : 5934529638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The founder of Bachpan Bachao Andolan (Save Child Movement) is :
T FAA AR ® HRTE E

Options :
Malala Yousafzai
T T

1
Sane Guruji

7 W@ FI'FT \I_ﬁiﬁ.

Salman Khan
3 % GeHM @



Kailash Satyarthi
, o ST HEE

Question Number : 72 Question Id : 5934529639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A tropical deciduous plant special to the Deccan plateau is :
S # ol & o0 Uh SWikicsdd Tl 9l 2
Options :

Teak

Shisam
5 % ST

Sandalwood
3. ¢ 3@

Sal
4, % K
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Question Label : Multiple Choice Question
The most abundant metal in the Earth's crust is :
gl o T A W g 3
Options :
Zinc
1% Ul

copper
5, % Al



aluminium

s o T
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Question Label : Multiple Choice Question

Hepatitis atfects which organ of the human body ?
Options :
Liver

e

1.v <

Pancreas
) % RS

Spleen
3 % [l

Small intestine
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Question Label : Multiple Choice Question

What is the maximum number of days of employment a rural poor would get
under MGNREGA' ?

Note: For this question, discrepancy 1s found in



question/answer. Full Marks 1s being awarded to all

candidates.
Options :

180 days

180 fe

1

120 days

5 120 T

100 days

3 100 &9

90 days
4 90 &

Question Number : 76 Question Id : 5934529643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which dynasty was started by Khizr Khan ?
faw @M o 6 d9 @1 e & off 7

Options :
The Sayyeds
| v HHS

The Lodhis

The Rajputs
3. % ol

The Khiljis
i-rl l.:I" ﬂrl

4o
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Question Label : Multiple Choice Question
The instrument used for measuring air pressure is called :
ared A % oY 9gad 99 & Bl S D
Options :
Anemometer

[

THHMEIET

Barometer

3o

2.4 7 T

Hygrometer

Thermometer

4.
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Question Label : Multiple Choice Question

NTPC is a Central Public Sector Enterprise in which sector 7
THo Fo Uo dlo 8 &9 § 1F =@ qEA-® &9 &9 & °
Options :

Education
| % fsTeqT

Health
) % e

Power

ST

3.¢



Transport

% Jde

4.
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Question Label : Multiple Choice Question
Bauxite is used as raw material by which industry ?
JiFRIEe &1 I 59 TN 3N Fod AW @ &9 H [ o 6 7
Options :
Aluminium

lL.¥ =

Iron

5, % SCl

Steel

P

y % E

Gold
4 % HF
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Question Label : Multiple Choice Question
The large collection of stars, dust and gas held together by gravitational
attraction between components is known as :
qedt % A TEAEUCT AUV BN UF |1 T 0 AR, 99 A7 W % 98 d0E
F Fal ol ©
Options :
Cluster



Atmosphere

2$3ru':"\

Galaxy

3.@/31?*]?}??"

Sun Family
4, % LT TR
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Question Label : Multiple Choice Question

Who presided over the first session of the Indian National Congress 7
MRAE TS E FUE & T8 & 5 FHEal e $ 7

Options :

A. O. Hume

Uo #Hlo &[H

1. %

Surendranath Banerjee
L x T T

W. C. Banerjee
3 EEY (e Hlo I

Badruddin Tayyabji
AT B EEE |

4.
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Question Label : Multiple Choice Question



Which of the following region in India is now regarded as an "Ecological Hot
Spot" ?
TRT # Ffiad # § $F-91 87 o9 Caiieios g wiie” |9 e e 7

Note: For this question, discrepancy 1s found in

question/answer. Full Marks 1s being awarded to all

candidates.
Options :
Western Himalayas

. ST AT

Eastern Himalayas

23E'ﬁ ’

Western Ghats

Sﬁéaﬁraﬁ

Eastern Ghats

4.‘1-Eﬁm?‘r
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Question Label : Multiple Choice Question

The purest form of water in nature is :
Ui H o I fEaH B
Options :

Rain water

1.¢Errﬁﬂ & T

Lake water

2. %



River water

3 %

Sea water
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Question Label : Multiple Choice Question
Who is known as the 'Father of Green Revolution' in India ?
TRd H BN Fild & T9F F =0 # HH FE A E 7
Options :

G. Paul
1. ® sl e

None of the three
5 o AT q H FE ol

Van Neil
3w M

Dr. Mithchell
4% o =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

0°K is equivalent to :
0°K 6 3 ¢
Options :



_ 273°C
%
—273°C

0°C

3. %

_100°C
4. %
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Question Label : Multiple Choice Question

The oxygen liberated during photosynthesis comes from :
TERIST HSUY % SN HAG B di ARG [FHE A © 7
Options :

Water

Carbon dioxide

Glucose

3 % G

G,

Chlorophyll
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Question Label : Multiple Choice Question



The term "Higgs Boson' is associated with :

T dEE e [EE 3 © 7

Options :
Nano Technology
11 T

Oncology

. T

2. ®

God Particle

3

Stem Cell Research
wH {9 E

4. %
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Question Label : Multiple Choice Question

In the 42nd Constitutional Amendment 1976, which word was added to the
Preamble ?

42d HaaiTE | 1976 H, TEAET H 59 9= F1 A1 @ o v

Options :
Democratic

1. ®°

fJ =4

Equality
2. % i

Secular
s TE-FTIE
Socialist
4, % NI
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Question Label : Multiple Choice Question
Which monument is known as "The National Monument of India" ?
T ¥ 31 TG # T FRE F3 A s ¢
Options :
India Gate
1.¢ HERUNE

Gateway of India

Raj Ghat

Red fort

4, -
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Question Label : Multiple Choice Question
India's first Railway University will come up at :
TRT F Ul {@d [asaidened el a9 @ 8 ¢
Options :

Vadodara, Gujarat
L aslatl, Told

Bengaluru, Karnataka
TG, FHCH

Hyderabad, Andra Pradesh
ZeEE, ATy

3. %



Lucknow, Uttar Pradesh

, % TETS, TUY UEH

Question Number : 91 Question Id : 5934529658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question
Which of the following is a large blood vessel that carries blood away from the
heart ?
M # § FF-51 0F 931 T anedl ¢ A @d B @9 H gf o Al 2 7
Options :
Vein
% T

Artery
2. T

Capillary
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Question Label : Multiple Choice Question

Which of the following is nof a member of the vitamin B complex ?
Ffiad & | #F [Geime o #Fwed 7 96 T8 © ¢

Options :

Thiamine

o P



Riboflavin
5w VAT

Folic acid

# l-\lr.“ ,I L E g

Ascorbic acid

4.Jm«7ﬁ‘s‘im 5 Ug3
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Question Label : Multiple Choice Question
Fungi are plants that lack :
Options :

Oxygen

Carbon dioxide
Fla IRAFES Tl

2. %

Chlorophyll
3 o TGS

None of the three
4 % d=t § § FE T8
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Question Label : Multiple Choice Question

Which of the following is an air-borne disease ?
Frefafad § § @[ ag dg 9 8 7

Options :



Measles

| v G

Typhoid
Gl EU XS

2. %

Pink eye
3 % NGIEIRIE]

None of the three

o T A A AR
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which organ of the body produces the fluid known as bile ?
Options :
Liver

1.& =

Pancreas

) % IS

Gall bladder
s L
3. %

Kidney

4o
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following hormones is a steroid ?
Mg A | HFE-81 8 0% 193 3 7
Options :

Estrogen

=,

v

Glucagon

7

2. % &
Insulin

3.% ¥

Oxytocin

, » A
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Question Label : Multiple Choice Question

Which one of the following is not a function of the liver ?
FHiad & | #F-91 79d # 78 78 © ¢
Options :

Regulation of blood sugar

1. ®

Enzyme activation

S UAEH SR

Detoxiation

3, % 199ET

Reproduction

407
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Question Label : Multiple Choice Question

Vaccination was started by .............. .
TR Bl JEAT ... BN H TR

Options :
Jonas E. Salk
AMHE 2o Hh

1. =

Paul Muller
5 % UG Hell

Edward Jenner
- UZds AT

Robert Frost
4, %
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Question Label : Multiple Choice Question

Proteins are made from which of the following ?
g =1 F | fEE 94 B8ld § 7
Options :

Sugars

Amino acids
STHAT Q‘hqg
2. ¢



Fatty acids

335%%

Nucleic acids

A - .-“rﬁ .zﬁ Uj’ﬂ?_"
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Question Label : Multiple Choice Question

Heart is made up of which of the following muscle ?
% = H | e Aeus § 39 § 7
Options :

Non-striated muscle

- - AiEas

Cardiac muscle

Adipose tissue

Striated muscle

4w HTTC A
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Question Label : Multiple Choice Question

Name the city which is the epicentre of corona virus outbreak in China :
39 STEY 1 9M JaE0 o 94 § A aEE F T60 5 FE 2
Options :




Shanghai

1w e

Wuhan

v T

Beijing
3. % it
Shenzhen
SERE|
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Question Label : Multiple Choice Question

In which part of the body digestion of protein starts ?
ST & 59 o # OIeE &1 TEA g B B v
Options :

Mouth

Stomach
2. ¢ qc

Duodenum
3 % %W

Intestine
4, % STP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Name the acid that is secreted in the stomach ?
39 2T F1 M JaRT @ 4T H dd Bl 8 ¢
Options :

hydrochloric acid

sulphuric acid

carbonic acid

3 % FEIMD TEL

nitric acid

4, % AP TS
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hepatitis is a general term for a disease that is caused by :
Options :
Viruses

. o THT

Bacteria

o o
[
h

2. 8

Parasites

3. %

All of the three
a7 "/
4, %



Question Number : 105 Question Id : 5934529672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

Which among the following is not an example of carbohydrate ?

HfEd § & i FEeEsc 5 9eBiv 78 © 7
Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :
Maltose

Fructose

2,

Glycogen

3 (EIECIER]

All of the three

4.5TFTTﬁm‘rr
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Question Label : Multiple Choice Question

From which plant source gluten is derived ?
9 919§ oA U Bl 8 ¢
Options :

Soya

1. = ‘
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Question Label : Multiple Choice Question

Match the foods in List-1 to it's pigments in List-II :

-1 & @@ TEE B GE-11 $ I aviml § HeE w]

List-1 List-11
ij?fﬂl E_fﬂ-ll
(Food) (Pigments)
(@ wer) (aeiF)

(a) Beet root (i) Flavones
(b) Carrot (11) Betalain
(c)  Onions (111) Chlorophyll
(d) Spinach (iv) Carotenoids
Options :
Code :
#3 -

(@ () () (@

1 % 1 1n 111 v



Code :

(@ (b)) (© (@@

1 v 1 111

2.9
Code :
i
(a) (b) (c) (d)
3 % 11l ii iv i
Code :

(@ () () (@

v 1 1 i
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Question Label : Multiple Choice Question
Which are the chemicals used for artificial ripening of fruits ?
Tl & FEF w1 H UM & W0 M § @EA B SR A Ao ¢
(a) Ethephon
TN
(b) Benzene
(c) Methanol
e
(d) Calcium carbide
T aH FIEES
Options :
L @& D)

, x D) &)



L e ©&@

L (d) & (a)
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Question Label : Multiple Choice Question

Which of the following microorganisms cause food borne intoxication 7
Ffmiad geAuidl § § #F @E ATd Aedal H1 FR0 a9l © 7

(a) Staphylococcus aureus

(b) E. coli

(c) Clostridium botulinum
A N1STH FIeieTH

(d) Listeria monocytogenes

(e) Salmonella

=, =

HITHAT
Options :
| % (a) and (b)

) (a) and (c)
3 % (c) and (d)

4 % (d) and (e)
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Question Label : Multiple Choice Question
The iso-electric point of milk is :
99 &1 HHiawE fovg #1  ?
Options :

6.6
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Zika virus was named after the Zika Forest of which country ?
AT dITE &l AHEYT 68 397 & i a9 & T 9T A T e ?
Options :

Nigeria

(-

”EG” -.q

1. %

Angola
2. x R

Nicaragua

s -
3w RIS

Uganda

4. TSI
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is nof a member of the vitamin B complex ?

eag § 9 ﬁ:rh?ﬁ:ra’rrﬁmltmﬂﬂmaa?

Options :
Thiamine

], % HHEE
Riboflavin
5 % VAT

Folic acid

3. % IREUEES

Ascorbic acid
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is the old name of alkenes ?
U 1 QU A A B

Options :
Olefins

-3“ :-.r-
1. ¢

Paratfin

2. %

Acetylene

- T i
“u =

3. %



None of the three

o 7
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bunchy top of banana plant disease is caused due to :
Fal @ U F S 2 S A BROT A 8 7
Options :

Bacteria

EIELY

1. ® S

Fungus

None of the three
| o R A
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Question Label : Multiple Choice Question

Name an organism which contains single chromosome and cell division occurs
through fission or budding :

TH W@ F AW FARC SEE THE QO B § AR B faaee faEse
HEe B A § B E

Options :

Eukaryotes




Prokaryotes

Bacteria

BIEIL!

3. % -

Primitive organism
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following bacteria present in the soil produces a peculiar smell
if it rains on perched soil ?

el & A e sEgEt § 8 aR-a 3 g9 el Wi A 2 @ o
AT 79 ST BT © 7
Options :

Streptomycetes

| v TEEEEeE

Staphymycetes

Diplomycetes

#® ESSIL EiL e

3.

Micrococcus

4, ® !

il
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Question Label : Multiple Choice Question
Name the Glands associated with the Human Digestive System :
AMd U= o | 92 3 1 AW qd=T
Options :
Salivary Glands and Pancreas

xR T A e

Salivary Glands and Liver

0 G ﬂmiﬂ q-b ﬁr‘r ‘3|’1jﬂ

Liver and Pancreas
=
3 % qhd AT HAEH

Salivary Glands, Liver & Pancreas
4 A ARME, Thd AR AT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In which part of the body digestion of protein begins ?

Y & 59 &  OeF &1 9= gE 2§

Options :
Pancreas
1, % STIRE

Stomach
e’ g
) ATHISTH
Small Intestine
3, x NS

Large Intestine
4. ® EE—’C[ ld
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Question Label : Multiple Choice Question

The undigested food stored in the liver in the form of carbohydrate is called :
FlEleEge & &1 # I9d § §US AU Mo 3 1 Fel A & ¢

Options :
Pulp

T

Glucose

2. % I

Glycogen

3. o SRl

Carbohydrate

. ""E]:g g"%-r
®

4.
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Question Label : Multiple Choice Question

Which of the following list of the diseases are deficiency diseases 7
Fefefad # & #-9 T, SFaa= U 8 7
I. Simple goitre and Oriental sore
II. Xerophthalmia and colour blindness
III. Night blindness and Marasmus
T AR A

IV. Beri-beri and Osteomalacia

R

S-S AT
Options :




[ &I

1. =
[ & III
2. %

IT & 111
3. =

I & IV
4.9
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Question Label : Multiple Choice Question

Section II English Language Test

593452158
2

Online
Optional
30

30

90

Yes

0

1
593452186
Yes

Choose from the four alternatives the synonym of the word given :

Abstain :
Options :
- Indulge

) % Shun



3 Refrain

4% Repel
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the synonym of the word given :

Gulft :
Options :
L& Nonsense

5 % Stimulation

3 % Laughter

4% Calousnen

Question Number : 123 Question Id : 5934529690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the synonym of the word given :

Alacrity :
Options :
| % Apprehension

_ Indifterence
2. %



3 Enthusiasm

4 % Ridicule
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the synonym of the word given :

Infinity :
Options :
L& Debility

5 % Bitterness

- Irvegularity

4% Indiscipline

Question Number : 125 Question Id : 5934529692 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the antonyms of the word given :

Abominable :

Options :
" Agreeable

_ Discomfort
2. %



- Repugnant

4% Industrious
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the antonyms of the word given :

Acrimonious :

Options :

1;3Ap[

o
. Benign

3 % Harsh

4% Self-righteous
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Question Label : Multiple Choice Question

Choose from the four atternatives the antonyms of the word given :

Forlorn :
Options :
| % Angry

5 % Despondent



3 @ Cheertul

4 % Moody
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question
In each of the following questions, the first and the last parts of a complete
sentence or passage are numbered as 1 and 2. The rest is split into four pest
named 'P', 'Q’, 'R', 'S". These four parts are given different combinations and
are not in their proper order. Find out the correct combination from the
four combinations give below the last part of the sentence numbered as 2 :

When the head teacher

1.

P. a bit of dirt on the floor

Q. she indicated has willingness to admit me in the clears.
R. or a particle of dust on the furniture
S. was unable to find

2. and that was my first examination.
Options :

L% SRQP

) % PSQR

3 % SRQP

L SPRQ
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Question Label : Multiple Choice Question



In each of the following questions, the first and the last parts of a complete
sentence or passage are numbered as 1 and 2. The rest is split into four pest
named P, 'Q", 'R', 'S". These four parts are given ditferent combinations and
are not in their proper order. Find out the correct combination from the
four combinations give below the last part of the sentence numbered as 2 :

The favourable signs :

and obliging him to turn back

and there was the danger of his crews rebelling

were considered by them as delusive

which increased Columbia's confidence

when he was on the point of realizing the object of all his labours.

o

Options :
|« PRSQ

) % SQRP

3 SRQP

, » SPRQ
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Question Label : Multiple Choice Question



In each of the following questions, the first and the last parts of a complete
sentence or passage are numbered as 1 and 2. The rest is split into four pest
named P, 'Q", 'R', 'S". These four parts are given different combinations and
are not in their proper order. Find out the correct combination from the
four combinations give below the last part of the sentence numbered as 2 :

One common mistake that many have make is this
it would be a very good thing

no matter whetter they worked hard

if everybody had the same amount of money

they have thought that

or live quite idly

MR Oo N

Options :
| » RQSP

, » SPRQ

. « PRSQ

, % SRPQ
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Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

Everyday father coes to office /at 10 o'clock mornine /and returns to home at
five evenine.

Options :
, » Everyday father goes to office

, % at10 o'clock morning




3 and returns to home at five evening

4% No Error
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

An emereency meeting is called to /discuss on the situation /of strike in the

college.

Options :

| % An emereency meetine is called to

> « discuss on the situation

3 % of strike in the college

4 % No Error
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

Children often object /to eat food that /they are not used to.

Options :
| % Children often object




) to eat food that

3 % They are not used to

4 % No Error

Question Number : 134 Question Id : 5934529701 Question Type : MCQ Option Shuffling : Yes Is
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.,

We are sorrv hearing /that vou heve not been well /for several davs.

Options :
| We are sorry hearing

, % that you heve not been well

s for several days

3

4 % No Error
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

Sudhir not only cheated his friends /but also his parents /who have sacrificed a
lot for him.

Options :
| & Sudhir not only cheated his friends




5 but also his parents

2.

5 % Who have sacrificed a lot for him

4 % No Error

Question Number : 136 Question Id : 5934529703 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

We are all astonished /that some of our lueggace /have not vet arrived.

Options :

| = We are all astonished

, % that some of our luggage

3 have not vet arrived

No Error

4, -
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

Samir can speak German /rather well /thougth he cannot write it.

Options :



| % Samir can speak German

> « Iather well.

thoueth he cannot write it

3. %

4 » No Error
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The given sentences are divided into three parts, one of these parts may contain
an error. Select the erroneous part. If you think there is no error in any part of the
sentence, select the option No Error.

I did not see him /since he left the college /fand went back home.

Options :
L | did not see him

5 % since he left the colleee

; % and went back home

4 % No Error

Question Number : 139 Question Id : 5934529706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following sentence has the correct indirect speech ?
Options :
- He said to me, "Where are you going" ?



5 ® He asked me where I am going.

3 o He asked me where I was going.

. He asked to me where | was going.
4, %

Question Number : 140 Question Id : 5934529707 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose correct meaning of the idiom underlined in the following sentences :

Inspite of all his brag he had to eat humble pie :

Options :
L% He had to weep miserably
»  He had to yield under humiliating circumstances

5 w He had to lead a poor man'’s life

4 % He had to escape and run away
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose correct meaning of the idiom underlined in the following sentences :

There is no love lost between them :
Options :
| They still like each other



) % They are on fairly good terms

3 % They are not on good terms

4 % They are trying to mend their relationship

Question Number : 142 Question Id : 5934529709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose correct meaning of the idiom underlined in the following sentences :

Ramu beats about the bush :

Options :

L ® Ramu is completely confused

) % Ramu has become mad

3 % Ramu struggles to find out his path

4 Ramu makes guess work
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Saroj is not the sort of man to let the grass grow under his feet :

Options :
| % To allow any successor to him rise

, % Tokeep others under domination

3  Toremain idle



4 » Toletthe nature grow

Question Number : 144 Question Id : 5934529711 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose correct meaning of the idiom underlined in the following sentences :

Y ou should refrain from washing vour dirty linen in public :

Options :
L Discussiry unpleasant private matter in the open

, % Abusing others for the fault of yours
5w Giving advice on cleanliness to others, while you yourself are unclean

4 % Making the surrownding dirty

Question Number : 145 Question Id : 5934529712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the correct
substitute for the following expression :

Hatred for women :
Options :
% Patriarchy

. Misogyny

3 % Marsochism



4% Misanthrope

Question Number : 146 Question Id : 5934529713 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose from the four alternatives the correct
substitute for the following expression :

An extreme fear of being in a small confined place :
Options :

L Claustrophobia

5 % Paranoid

- Xenophobia

4 % Hydrophobia

Question Number : 147 Question Id : 5934529714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find out the correct phrasal verb for the underlined word :

Slavery in America was abolished by Abraham Lincoln :
Options :
| = Putdown

» % Ruled out

3 @ Done away with

4 % Worked out



Question Number : 148 Question Id : 5934529715 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find out the correct phrasal verb for the underlined word :

Identify the part of speech of the word underlined :
Gopa's brother is a_very smart boy :

Options :

% Preposition

) Adverb

. Adjective

4 % Conjuction
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following words is monosyllabic ?
Options :

L Simple

5 % Complex

3 % Order

Shatter
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the figure of speech used in the following sentence :
Variety is the spice of life

Options :

| % Simile

» Metaphor

2.
3 % Irong
4 % Paradox

Section II Hindi Language Test
Section Id : 593452159
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Section type : Online
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Question Label : Multiple Choice Question
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Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
qel Y [d=se & 9949 $i

;\IH ] I

Options :

g WH+ HI

1.

, x T + A

s o T + I

4w T+
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
HEl |9 =8 A 999 Fifu
gaH

Options :

gcd +UdH

1. =



) % ZIdq + TH

Zid + U
3.

4.33%-[?[_1_%
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question Number : 155 Question Id : 5934529722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Options :
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Question Number : 156 Question Id : 5934529723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Options :
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Question Number : 157 Question Id : 5934529724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 158 Question Id : 5934529725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :

Question Number : 159 Question Id : 5934529726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 160 Question Id : 5934529727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
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Question Number : 161 Question Id : 5934529728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Al §TE ® 3999 HiAg
Options :

Question Number : 162 Question Id : 5934529729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question Number : 163 Question Id : 5934529730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 164 Question Id : 5934529731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 165 Question Id : 5934529732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 166 Question Id : 5934529733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 167 Question Id : 5934529734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question Number : 168 Question Id : 5934529735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 169 Question Id : 5934529736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 170 Question Id : 5934529737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 171 Question Id : 5934529738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :

Question Number : 172 Question Id : 5934529739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 173 Question Id : 5934529740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question Number : 174 Question Id : 5934529741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Question Number : 175 Question Id : 5934529742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 176 Question Id : 5934529743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Options :
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Question Number : 177 Question Id : 5934529744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 178 Question Id : 5934529745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 179 Question Id : 5934529746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 180 Question Id : 5934529747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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